
Use  Column  Addition  To  Double  Numbers 

 

    4 3 4 1 

+  4 3 4 1 

_______ 

    2 2 1 4 

+  2 2 1 4 

_______ 

    3 0 4 3 

+  3 0 4 3 

_______ 

    1 2 3 4 

+  1 2 3 4 

_______ 

 
 

    4 6 2 4 

+  4 6 2 4 

_______ 

    3 7 2 3 

+  3 7 2 3 

_______ 

    1 5 0 8 

+  1 5 0 8 

_______ 

    5 6 2 2 

+  5 6 2 2 

_______ 

 
 

      5 6 7 

  +  5 6 7 

  ______ 

      9 7 4 

   + 9 7 4 

_______ 

      1 6 8 

   + 1 6 8 

_______ 

     2 5 6 

  + 2 5 6 

_______ 

 
 

 

Timmy  earns  £ 78.30 for  a  day’s  work.  

 

How  much  will  he  earn  for  2  days’ work? 

 

 

It costs  £ 64.59 per person for a train ticket. 

 

What is the total cost for two people ?  
 

 
 


